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SIHAS @ 20144
Ol&ERE= o 20fl At
A+E - ASHEIIS

® 2+XE52 (CH9: &)
% 2 ] = X = ] =
8 = 49lo HidE40l0 =2 8 = Al @ A XIS =2
= 2l 271,89 191,952 79,043 | &t 2l 271,8% 191,952 79,943
rSfeli= 0 0 0| HISX& Al 72,250 83,000 10,750
SEN= 0 0 0| SXHI AL 0 0 0
= 0 0 0| el 0 0 0
Bhaa 0 0 0| 212zl 0 0 0
HEt2|33 0 0 0| 0iE2 0 0 0
BNEES 198,987 115,112 83,875| 0l X132 179,645 88,952 90,693
ESS 0 0 WP G=r BN 0 0 0
Ol Xtz=e 5,908 3,840 2,068 | O3 eI24E 0 0 0
JIEtE 67,000 73,000 6,000 | JIEHK = 20,000 20,000 0
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Ol &EXb== 0 20l A
gAF=Z ¢ ASHEII=
@ +3 = Erel HR)
ALDLSEE2 A O|OH EEE = 2} ﬂ- % LH (o]
oo™ T e A.O|OH oS O -
T e
200 Mel+=Y 72,908 76,840 A3,932
210 ZBoEAI2A== 17,908 16,840 1,068
215 A Fz3+ 12,000 13,000 A1,000
215-01  HxuR3= 12,000 13,000 1,000
OAl 2= 12,000,000& = 12,000
216 Ol Kt==g 5,908 3,840 2,008
216-01 B30 =S0IXt=+L 5,908 3,840 2,008
OUWIXIZ Ol 5,908,000& = 5,908
220 AIEANI2I=Y 55,000 60,000 25,000
223 Jlet==g 55,000 60,000 A5,000
223-09 el=¢ 55,000 60,000 25,000
OASHIRIIS YA ASTHUA L HES2
55,000,000& = 55,000
700 2E8=USLLHF HeH 198,987 115,112 83,875
710 2SS 198,987 115,112 83,875
714 OIXIZ22l= 198,987 115,112 83,875
71401 OGIXl=z=al= 198,987 115,112 83,875
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AHRZ  AFEEIIS
@ XIEH= (Sl @)
ZX .22 3. O - JIRAY - HES X&H HEAC X &N Hns2
B Mt 271,8% 191,952 79,943
Al ZO|OFOH 271,8% 191,952 79,943
QAAA Z SA 9,250 103,000 A10,750
DHSAH K9 2 SHAWH(AEXEISD) 92,250 103,000 A10,750
DYHSAH X 10,650 8,750 1,900
201 L2 10,650 8,750 1,900
01 A= 10,650 10,650 8,750 1,900
Qb7 SHSAIN BEXIE HIX 110,00020* 10744 = 1,100
OZHSAE EXT nH 110,00021%504 4 = 550
ogesA Zxg)| N 1,0002%9,0000H = 9.000
AMEAA AMAFTSEA 21,500 26,650 5,150
201 LBt 8,500 23,650 A15,150
01 A2l 8,500 8,500 23,650 215,150
OAletdE ARASH XY 5,00021%500H = 2,500
OAIZHAUAA PIMFHZE DHAZ X
2,00021+3,0000 = 6.000
206 THEH 3,000 3,000 0
01 T 3,000 3,000 3,000 0
OSFSYAE 10,00091%30021 = 3,000




X2 .22 - FHM . O - JIRAY - HAS X&H HEAC X &N Hns2
401 Al&H| 2201 7,000 0 7,000
01 A& 7,000 7,000 0 7,000
OADIEE ZFUSAZI AAL &3 00,000 0014 = 5 000
OAIZS |2 LED &R 200,0002 %1074 A = 2,000
405 KHAHEISH| 3,000 0 3,000
01 THLSEFSH| 3,000 3,000 0 3,000
OZADIHE FetA A 600, 000257 = 3,000
LIESZ01D| AMAA XA 9,000 7,500 1,500
201 L2 9,000 7,500 1,500
01 Ae2b| 9,000 9,000 7,500 1,500
OUESZE0D| SAMBRIAR HEXE - 5000
SA2EHN L HEAAFIALY 46,100 45,100 1,000
201 L2 16,200 18,200 A2,000
01 Ae2b| 16,200 16,200 18,200 22,000
OSASHL L ASSHY 222 MR 5 000S1e2. 000 = 6.000
OHHAZTMAA ZAIK UMD HIZ
4,00024%2,0000H = 8,000
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XX .22 . ¥ - HISAIY - HAS K= HEAT X =M x| ImE=l
OB = 0]21010|SAIE K2 HIA
£ FA
220,00081%102A = 2,200
301 YBtE A= 9,900 6,900 3,000
1 JEEAR 9,900 9,900 6,900 3,000
OAlDZAZ 20,0002% 1524 = 300
OAHIRIAIZ MUY CHs SHEH]
40,0002+202 %122 = 9.600
802 BHEI2D|E} 20,000 20,000 0
B Jouzs 20,000 20,000 20,000 0
OB SHAN 12 DE2 vHa 20,000,0002 = 20,000
HACCP CI2= XM X2 A 5,000 10,000 5,000
201 YBr2AY| 5,000 10,000 5,000
01 A= 5,000 5,000 10,000 A5,000
OHACCP XIRSIA SIBIRA AISEI} HAE
250,00024200H 4 = 5,000
PES (EH M) 179,645 88,952 90,693
BEIS(AZNEDZ) 179,645 83,952 90,693
X2 OIXl 179,645 88,952 90,693
602 OIIXI2 179,645 88,952 90,693




X .22 - . U] - ARAY - BES XEH HEACK|EH HnsZ
01 GIXI2 179,645 179,645 88,952 90,693
Oolixl2 179,645,0002 = 179,645
X £ g A 271,895 191,952 79,943

_81_



= s | Ol XISH&H S
3 . = jl o 5/5' =< d c<’:Ij ot_:l S
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3 2 AMBAEDZ
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oleg ol
Sz A e | MU= | Bxz | oz | SEe Ol Xt JIEt H ® HISKE | SAHE | ozean o=+3% | JIEt | (@-0)
=== - SS | (oIxEZE) 20| 20| AHl | AFSIH| | & 1= 22as | XS
2008 MK 695,286 0 0 0 0 0 17,220|  678,066| 565,199| 561,779 0 0 0 0 3,420 130,087
2000 &= 61,308 0 0 0 0 4,960 56,348 49,132 49,132 0 0 0 0 12,176
20108 & 83, 121 0 0 0 0 4,681 78,440 36,184 36,184 0 0 0 0 46,937
01MEE 48,381 0 0 0 0 3,631 44,750 54,909 54,909 0 0 0 0| £6,528
20129 106,820 0 0 0 0 5,387 101,433 64,345 64,345 0 0 0 0 42,475
20139 & 76,840 0 0 0 0 3,840 73,000 103,000 83,000 0 0 0 20,000|  A26,160
20144 72,908 0 0 0 0 5,908 67,000 9,250 72,250 0 0 0 20,000| A19,342
Al 1,144,664 0 0 0 0 0 45,627| 1,009,037 | 965,019| 921,599 0 0 0 43,420 179,645
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ClIXl & Ol EreH
-2 CIIXI(EH) A s | o)
201249 =LS I 2013 LS T H@ 20141 LS THH® £2(@-@)
=l 225,147 198,987 179,645 A19,342
OIxIZ2 2 225,147 198,987 179,645 A19,342
a2 225,147 198,987 179,645 A19,342
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